
  CSc 372, 11/28/06; Quiz 13; Time: 4:00; Value: (0.7 * 7) points

1. What is the fundamental data structure in Lisp?

2. Write the Lisp analog for this Ruby expression: x = 1

3. The cond function is the analog for what element of Java?

4. Typically, the predominate syntactic element in Lisp code is the
_____________________.

5. Write a function f(L) that returns N*3 where N is the first element of the

list L.  Don't do any error-checking.

6. What are the data objects that Emacs uses to hold text being edited?

7. What is the name of the function that returns the cursor position?
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